(BERIR) #he B &

S HRZ (BRI B ZE MR RS
20135%3H1H

BhE. WREH

- A BN EX R X A][-1,b] BRI 210 A HA VI T RAE LB P{X — 1 <
e} >2/3Mb = £=

- WX, Xo,y e, X R OL R 53 A0 B RE LA 87 51, H X IR SECR N FE S A0, 0
{/\Z?:l Xi —n
\/ﬁ
C WX, Xo, RO R A3 AR I BEALAR & 7 81, He T8 B N0, 77 22 o2, ITBE
USRI AIY, — 150 X2 Reliicd T
. WX, Xo, o, Xsoore ML R 43 AT I BENL AR &, H X ~ B(l,p),ﬂ”?ﬁuxﬂfﬁﬁﬂ/}j\j(
).

lim P

n—o0

<z} = .

P
30X & p;
5290 X; ~ B(500,p);
Pla < Y2 X, < b} = ¢(b) — ¢(a);

500 ~o b(—b=B00p__\ _ 4 a=500p _
Pla <3272 Xi < b} = ¢ 500p(1_p)) ¢ 5oop(1—p))'

B X PRBALFEI AR EN A R AL ()& X ARMYIL S RRHUE
1.
A X, MR NP{X, =k} = . k=0,1,2,..;
B. X, R IX [8][a, b] FHI3551 53 0 < b;
C. X, [ RECN f(x) = m, —00 < T < 00;
D. X, Ik B s H0H

O aw»



(BERig) AhE s s

10.

11.

12.

- WBENLARE X, X, ..., X, B E 23AR SBIRMU(0,1),1EBA:

n 1/n
(H Xk> i>c,n—>oo
k=1
Hrp e IR H e fE.

BRNL B FHIX, Xo, ooy X, DI ARG BAARIINE 505 2, BAAAE—
MNERTE R E B fERVar(X,) < e,n = 1,2, . UEBXHMERES E Me > 0,H

1 — 1 <
im P1=S "X, - =S BX)| | =0,
Jlim (inZ w2 >> 0

BIX,, Xo, ooy X, TR,

- B gk H B AR LG B A AR 0.8, Z AT Ak i (1 5 A% SR AE0. 76 5 0.84 2 1] Y

BERA/NT0.9, [ XL i 28 /0 B A 77 % DA

- RRE A A ZEGBORER Y AR PR R I H20%, LX RORE R A

(RIT00>ZR ™ r DR 4 5 0 P 2 =) 3R 11 7 4,

(1) 5 HX MR,
(2) R AR SE 3 Hr 38 B 7 e HE R s R AN 147 HAZ F307 IR (1)
PEBME.

BT A 7 T 38 73 i 92000/ I bR 22 9250/ EAT SR s T, A
i3 i 22250/ NN FRAEZE AR O T IR — ORI A T VA R AR R B T
PR FEAT A, 7 T3 75 b I 2200/ U AR 50 R A e e e i
IR A 0.997, 22 /b R AGr 36 22 /D7 i 7

THENUHEAT 807 S5 8 A DY 5 N B S Ay 7 B vt ORE IN B U T 36— AT

NS, TR ZE AT LA IR [-0.5,0.5] L (I35 5] 40 A7 ABE S5 U038 5% 2 2 A0 H

SRR

1. BATnIS 5 R 72 SR B ERHE AN I 45 8 TE 3 a S I n=27 a=21}
IR 2R R T DM

2. T AT 2/ UGS S AT A R 22 BN 45 AN 10 HER A /N TF95%7

3. BT 3R 2 A 0B /N T 45 8 IR R e MHERE, HF1HH Yn = 75,6 =
0.05F, AL I ALME..

A TR AR I e R e A 11 E A R B AL 1 R AL AR T 3 E S50k, b 1

Z25kg, 45 F B KR E 7 5000k iR A Az R A rpoc % B i 2 0 B A A 7 B £ T

2R, A RERIEABERIEER K T0.977(2(2) = 0.977).



(BERig) AhE s s

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

WX, Xoy ooy X /B WOL [F AT IBEHLAS 8 B (XF) = ak(k = 1,2,3,4), iE#
0P s BN Z, = 1| X2 MM EZ 40 8 A B 5

WX ~ N(u,2)5HY = AX + afi A1,
BnfEREHLIAE X ~ N (u, 2),ZIEE RY = Y0 X RAEI A

W X1, Xo, .o, Xp MOLFE 30 FRN (11, 02) 530,
(13RS, = X1 + Xo + ... + X, 704,
(2)3RS,, /nlf 540,

(3)3RY = a1 X1 + as Xo + ... + a, X, IR,

WX, YIS X ~ (1,02),Y ~ (u2,02). RZ = a+bX + cY 475
WX ~ N(p,0%),iEHY = (X — p) /o ~ N(0,1).

W, X ST [F) 73 A A 36 R ) 20 TR p ME S, = Doy X AR ARONE 0 48 ok 2
sen BIXHEMe > 0,6

lim P(n(p—¢e) < Sp <n(pu+c¢e)) =1.

n—oo
B X, VST [R5 A7 AT 3L R B B 8 AT 2202 AR
nt3(X, — ) 0.
WX, RS EIN, (> 0) [ Poisson /347 :
P(X,=Fk)=Me Mk kE=0,1,...

M\, = n\UER:

X, —n\ 4
— N(0,1).
—~ (0,1)

WRE—MFERBN B SY RN ES AN (uy, 08) fECFY = ylI5&M4E T &
HXARMIEE DN (ay + b, 0% ), Hda(> 0), b2 FHEL

(a)3R (Y, X)) B E 2,

(b) R4 H X 2

BEX, UL R 3 A7 A7 LR R o T

fa) 6x(l—z), 0<z<l,
€Tr) =
0, Hofth.

THEEZE 1 SR AR R limy, oo n ™1 0 X
W(X,Y) ~ N(pu1, po; 02,02, p). R(X +Y)FI(X — V)L T % B4

3



25.

26.

27.

28.

29.

30.

iﬁ(‘Xa Y, Z)T ~ N(ﬂvz)vﬁ\:qj

-

KX, YHX +Y, X - YRR,

2
1 1.
2

FEAH SRR R L5 /ANE FRvEE 22 S 4/ SR — 4 A B RIS 1] /N T 1700/ N 1
R,

Feare A BRI DR L 97 %, 2 A 50004 24 A EAR 3K H Eh A\ Bb T 488011
MEZ.

W B rp A [F) S i i N ELfilp € (0.01,0.99). iM% ik N Z3 46— TR & A =I5 p AT I
7.

(a) 4 1 LL99 6 HIFE AR ORAEp A TR 1R 22 ANl I 1%, B 2SR 2 22 /D i IR ?
(b)Un A A — A5 [ R 9 T2 300, T A A R R 2 2 PN = /2 22 /07

WX e RS & 6 IEa > 0fllc = Be®Y < oo, iEP(X > z) < ce 9%,

BE{ X ST 7] 43 AT B BEHLF B o, = EXT piom = EX?™ < oo, Bl %
TAX k= 1,2, P H 55 R ECEE, s REC A 0 A PR e 3



